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1. ' Y S G ANA-ald S S W 7 W@ g had 3fad & &l e, L
foraneti 1 vae S 97 3EXA1 ! U i W R 27 3T SW o gHAdT § R
a’lﬁm

‘Is Management concerned only with doing the right task, completing activities
and achieving goals without taking into consideration the cost benefit 7 Give
reason in support of your answer.

2. ‘UH gfma & w9 H e’ &1 A9 S| 1

Give the meaning of ‘organising as a process’.

3. U GSAHS B9 H A TRy S el Td Ugd @l dgidl odl © | 1

Name the type of organisational structure which promotes flexibility and
initiative.

4. FETS RREART § ‘EikH acla (¥ &) ' i YHH &1 Seor@ il 1

State the role of ‘route clerk’ in functional foremanship.

5. To<ii gy o 39 98] 1 A9 9dld U Seei@ hitsy il % i ‘71 a1 ‘wwa’ 1
ST 1 STETIRAIST hl A STTHM T H HRedl I&M Il & |

Name and state the aspect of financial management that enables to foresee

the fund requirements both in terms of ‘the quantum’ and ‘the timings’.

6. 3TTT IR Bied & a1g No[a wgr=mi 3197 o & |1 U ygae-fafqes ot 1
3RY & ARd 91 3ITeh! <1 ==al of for el o fafire foemmet & @y
AIFEA-HIA &1 3culed dIRY ® | e vgeml 3 a7 weqy fean fe
HaEd-hHl &1 Y 95 Sleal STyafed 89 &t § d91 39 =add § rcafusd
TRl gSiT o faf & sl FR SAraegend 8rft | 31d: 36 319§ Sl Hrial
1 AU AXH wH & T 771 foran |
Tl gSft ot STTavIRarsti sl gHIfod i 9t IH dcd ! Tgai fHeh R
S vgr=ml 3 HiedEd ®HE & JodT B EHie SHadE 1 A foRa |
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Rizul Bhattacharya after leaving his job wanted to start a Private Limited
Company with his son. His son was keen that the company may start
manufacturing of Mobile-phones with some unique features. Rizul
Bhattacharya felt that the mobile phones are prone to quick obsolescence and
a heavy fixed capital investment would be required regularly in this business.
Therefore he convinced his son to start a furniture business.

Identify the factor affecting fixed capital requirements which made Rizul
Bhattacharya to choose furniture business over mobile phones.

fauoE & 39 w1 w1 W IqRET S Al ISR Sl Ard U9 E Yo 3
Hrafeed B

Name the function of marketing which is concerned with the cost and location
of target market.

AT 7 Tk T SHASR 9 T UG o= 1 TR k1 Tk s @11 Sl
Sl Gle W 3IW TR H Th e hl Zohel HaAll 394 3Hk! forhrd gomer 9
1 foem 3Iust e &1 Fw9d #9999 ) T 9wE & Hiw
FHUET 1 JIATR STHETET % HY AT F SR Ug A1 33U 39F 95 H U A4
TR &1 Tohe foon @y & SHaht egfaen 3R &fqufd & fau 38 =R fafve g@r
& TR ot feu

e 1 59 Iuvie iR o1 9 foRan 39kt Seer@ hifsu |

Suman bought a box of cheese of a reputed brand from a local shopkeeper. On
opening the box she found a piece of stone in the cheese. She reported the
matter to the shopkeeper who forwarded her complaint to the concerned
company. Within a week the representative of the company visited Suman’s
residence with an apology and as a replacement offered her a new cheese pack

with four other varieties of cheese as compensation for the inconvenience to
her.

State the consumer right which Suman exercised.



9. ‘frarem’ =1 uRenfyg wifsw ) e 9fshar & 999 € =X &) THEET | 3

Define ‘Planning’. Explain the first two steps in the process of planning.

10. ot HAS FAETE ToXUTsisl o Ml § SR fosiell & Sy fmin & 2ea 3
W@ TGS § ogd & ey o iR ofed W T 9 M w &1 SH o
S¢ A, e Sfi-31ft oo THAT IH HT €, | THHR FRI g & T
e |

qrsehal 3 9T foh 35 ° 9t gR & 7o o & c1fuer sues faar & el o
d | Tk Afafied STk fUdl ol A9 STl it AFadl U favar &1 a1l 394
HROT HHAR G T 9|

(1) THT fR=l < TEIW) SIS AT TE< ShITSIC, fSTeh HRUT ‘ IATeTE T=IITESIST|
3T A&l 1 U TEl T @I A

(9) YU (27) 97 H Y=g T G o1 & YhR i Teh TR o1 hl 3o
hifSTT |

Mr. Fernandes is the owner of Unibie Enterprises, carrying on the business
of manufacturing electrical appliances. There is a lot of discontentment in the
organisation and targets are not being met. He asked his son, Michel, who
has recently completed his MBA, to find out the reason.

Michel found that all decision making of the enterprise were in the hands of
his father. Moreover, his father did not have confidence in the competency of
the employees. Thus the employees were not happy.

(a) Identify any two communication barriers because of which ‘Unibie
Enterprise’ was not able to achieve its target.

(b) State one more barrier each of the types identified in part (a) above.
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‘HHeHh T=wuEs fafies’ & Heasyeras-31qd, faque steast-famm aen

e U Joreeh-oiql 4 HEat Sied 1 o faan

I % & HEGN TG 3 A GEIEA Jaeh-afl ol Jarn IR 399
3Ty TR ff 98 diTed Bled | Ygdl @ielt 9l &l X1 o1 3 o fean &
! T HHR T F¥an €, 5 o 9gd & Avg wa favewy €, afe uersmd
T 3 I H oA S A1 98 qeft e wr w1 | G RSN e
s9% fou weud & T FUR T gy 7 foy Rewed ' @ goud fwa f9=<iA
‘gdeh T=RsS fafaee’ o fau fayom 1wy & 98 &1 faqmoa faar 3
HHOAT & AT Tk ITPH JARN w93l H I%a g ITqA % e U Rl
SRId H Ty ST JiefATasl &l Siie @ &k W) fean |

(31) ST R 9= &l 9 o AT ‘HiFch T=wEs fafiee’ g’ 9ga wdl
% STITeh/aTRl Fidi o A SRy |
(9) YUK YEH T Yol o Yodeh &Id o Teh-Teh 1Y shl Seai@ Hl HIfT |

Atul-The Assistant Manager, Vikas-The Marketing Head and Leena-The
Human Resource Manager of ‘Montac Enterprises Ltd.” decided to leave the

company.

The Chief Executive officer of the company called the Human Resource
Manager, Leena and requested her to fill up the vacancies before leaving the
organisation. Leena suggested that her subordinate Miss Rama Wadhwa is
very competent and trust worthy, if she could be moved up in the hierarchy,
she would do the needful. The Chief Executive Officer agreed for the same.
Miss Rama Wadhwa contacted ‘Smith Recruiters’ who advertised for the post
of marketing head for ‘Montac Enterprises Ltd’. They were able to recruit a
suitable candidate for the company. Atul’s vacancy was filled up by screening
the database of unsolicited applications lying in the office.

(a) Name the internal/external sources of recruitment used by ‘Montac
Enterprises Ltd’. to fill up the above stated vacancies.

(b) Also state any one merit of each of the above identified source of
recruitment.



12. it foorg A ‘STE.S.UH. o' & I A1 S 3T oy AfSId X W eam 3
SR 9gd GO 9 Fifeh doh FafHd &7 9 9 HT PTaE B W@ AT Hh
3191 o1 STSIR-Hod ot Frafhd €9 9 9g @1 a1 &% ‘&, dF ' w1 At w3
Y SN H o aT| foed A A 9 fR 39 Son 9 SR ST, o &+
A FT I TG 9k 61 T g6l B & 1d 3% ok & W Tlgd &
TSR R a1 I=iA T TH o1 7 qohg ! Jam 3R 39 A0 o ¥
3 4 wUe faf=ifaa & & faw &, @9 & 39 YSa g &1 ot aE |

SMIEY 90T o R 3 1 J&d 50% 9 T 3R qehg o 313 1 FSIR
e 319 T 6 hUS B T Tohe i T 2 HUS &I @19 3T 39 1 HUS T
fom #50 &1 < T iR 1 wie ¥0d w4 W@ fau| 9rd sfayfa o fafem

are (9+f) Hfiew Sarell | ysde e fHathd si9 & 9] 39 Atafyadn o
GAM R I Feit A o Heu W 9 SHAT S |

ST STf=9e 9 ekl &l 38Yd i g¢ Wl grI fsaifed fhgl <1 @l &
TR, Tel ITh! Ieeid ehIfST |

Mr. Vikas Mehra was the Chairman of IBM Bank’. The Bank was earning
good profits. Shareholders were happy as the bank was paying regular
dividends. The market price of their shares was also steadily rising. The bank

was about to announce the taking over of ‘UK Bank’. Mr. Vikas Mehra knew
that the share price of I1BM Bank” would rise on this announcement. Being a
part of the Bank, he was not allowed to buy shares of the bank. He called one
of his rich friends Mukand and asked him to invest ¥ 4 crores in shares of his
bank promising him the capital gains.

As expected after the announcement, the share prices went up by 50% and
the market price of Mukand’s shares was now ¥ 6 crores. Mukand earned a
profit of ¥ 2 crores. He gave X 1 crore to Vikas Mehra and kept T 1 crore with
him. On regular inspection and by conducting enquiries of the brokers
involved, Securities and Exchange Board of India (SEBI) was able to detect
this irregularity. SEBI imposed a heavy penalty on Vikas Mehra.

Quoting the lines from the above para identify and state any two functions
performed by SEBI in the above case.
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YT H&0 AT, 1986 & UM & ST{UR Teh ‘IuHlel’ | 1 A9y
€2

What is meant by a ‘consumer’ as per the provisions of Consumer Protection
Act, 1986 ?

‘gery' @ AR ¥ 2 gHeR! U Rl e fadwaned ) gHemeT S 5@
FA & T H i wdt © |

What is meant by ‘Management’ ? Explain its any three features that establish
it as an Art.

ANt SUHAT-3TEd | UReda & |y Tiers 1, st fh T el #i gm =

T 91, Y1 FaH™ i dihele o Fad™d | dga o7l | fSarel & Fau T 36

3 e T dfehele & TR Uchs J&Id [ | 3HA 3TT¥SH HIT &1 STTAN
TR AR AR TR I hid o AT Flhleid. A AW HI Tk a9z
TE | Y AR 9gd ey el IR dfeheic 1 fashl gR1 399 STafys oy
GISRCRIN

IR frafq o afda =meEfas waieRr & STl ol UgeEY Td T9eist |

With change in the consumption habits of people, Neelesh, who was running
a sweets shop shifted to chocolate business. On the eve of Diwali he offered
chocolates in attractive packages at reasonable prices. He anticipated huge
demand and created a website chocolove.com for taking orders online. He got
lot of orders online and earned huge profit by selling chocolates.

Identify and explain the dimensions of business environment discussed in the
above case.



16. ‘TR R fafree’ 7 ufyem 9ma & U fuse &9 A el v & 9gd &9 qam 4
Uy 9, YT T8 wR i 1t Tt Tnfua e @ fo ferm 39 e
& @M A O FR fafiee’ & 39 WM & W R FEA A ag ot fol
feren T gt ofier # what, oToudrdt, aTeiR 3enfe Siet gfaemd of Suersy 308
S aqifer & et B w1 % ®9 B 1w % Gid SARid @ |
‘A R fafgee’ 7 scafus oy eafsid e IR T fean) Tew-gEd gfdaan
FHAT A A IR Jorue eRfag’ & ‘AR &R fafyes’ g ifsia feew
T Tafesh A1 & HRON HT Id1 A o T e
sfa< 3 umn fo M1 & FHiTa § eads 3evdl &I uif| o faw fafis
forensti & ofte Hafeed To=@ 81 TE FHAR &l I8 I § fF FF fFas gfa
SWERT & JaeeE ¢ Hhad 3Tal 3o 8 fob 37k e § Iewo JiuH- @t
% HILAH § ¥ T T, Seich (U R fHes’ HEIW Hi STETIhAIaR At
feemell & yonfed B 1 TTAR TeM i €, Fo@ gernei o1 vy g g §
3R JogeR ot A T = S R

(31) |Ted & I YR &l GRHT 1 ‘718 &R faafiee’ § g9yo o |
feemetl # yafed % &l SATANG J&H HLdl & |

(9) IYUF WA (1) H YgaM T FT3T % GhR o Teh o4 1 W Sei@
HITSTT |

(¥) T8 < gl &1 Ioi@ ife S ‘118 R fafhes’ gt o1 9efia e
<t B

‘My Car Ltd.” decided to set-up its new car manufacturing factory in the

backward area of West Bengal where very less job opportunities were available.
People of that area welcomed this effort of ‘My Car Ltd.” The company also
decided to provide facilities like school, hospital, market etc. in the factory
premises so that the people are attracted to join the factory as workers.

‘My Car Litd.” started earning huge profit. Another competeting company asked
its production manager ‘Arvind’ to investigate the reasons of earning huge
profits by ‘My Car Ltd.
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Arvind found that in both the companies there was systematic

co-ordination among the various activities to achieve organisational goals.

Every employee knew who was responsible and accountable to whom. The only

difference was that in his organisation communication took place only through

the scalar chain, where as ‘My Car Ltd.” was allowing flow of communication

in all the directions as per the requirement which lead to faster spread of

information as well as quick feed-back.

(a) Identify the type of organisation which permits the flow of communication
in all the directions in ‘My Car Ltd.’.

(b) Also state an advantage of the type of organisation identified in part (a)
above.

() State any two values which ‘My Car Ltd.” wants to communicate to the
society.

‘T, TR fafies’ waieR- WERREl & §9 ®E R T/ 71 FIEE 7
IR I8 9 IH A S0 ek I i o % foae fafss oAl &6t aen
1 HEHr 1 Aifd & ATGR EH FAd1 2R ST@S gRT AT HIAT oA STfh ]
W TR R A Lt oAt | SHH A hed Af¥e FHY A A1 AfYg wfl-
Fefl IH 1 Afgd Ul I Hohed it AR KA K fAU ASER AT TSl AT
Tk YR W&y, ALY 3 3e9d] i Ui & faIu 39 Y&R 9
1 TR R UM & ST ITH ST o7 | RFIHT o & BRI STTHRT Tl THoh
IR H g1 =l | 3 A Adl Sl o, 39 faud # 39k |1 == bl qAT HEA]
i AN Aifd 9<a <11 Fg (o foran = foh s o« wfed 9+t 9=
1 AT BT SR A F T H GGUAN A& bl & S arellt F&fa i ==t
B & | TUR GHRHS JIE U1 IR A9 & YToAF 9= A7 Y a1 g AU
qeh § 1 HET IRY R fean|
& wREGRI AR g TR G4 o & qcd bl [aQudist] o1 Seoid
HITSTT |

‘A.S. Environs Ltd.” is dealing in Environment-Consultancy. To get the
business, the team leader and his team used to travel to different states to give
presentation to their clients. As per the policy of the company, the team leader
used to travel by air whereas his team travelled by road/train. It was not only
time consuming but also at times forced the female team members to travel
alone.
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As a result, the subordinates were not acting in a desired manner to achieve
organisational goals. The CEO of the company came to know about it. He
called the team leader, discussed the matter with him and decided to change
the travel policy of the company. It was decided that in future all the members
including the leader would travel together and usefully utilise the travelling
time in discussion about the presentation to be given to the clients. This made
a positive impact and every member of the team started acting in a manner
as desired by the team leader.

State the features of the element of the function of management used by the

CEO.

Teh I [ oM aTelt e’ 1 faqoe & @ oft, Sl s9eh! e AR TR
1 YSH I S dTett fasha W= Heredl o 6ROl 9gd g off | ¥l aeR
T T STt wEAT off AR sTcAfien oy SIfSia S Wl off | T @M o RO
HFOT J ToIsha-3uU= H1ell O¥ &4 ol sig o feal | 9eh URHTY W&y Urgen
& Y R o Y W@ 8l T AU Sl Sl AsRi H REAT i S @ @
TS| A AR o TN FAcAHeh HH e T oA oA 396 ar | faf<a
g1 foveoul W 9% qd =en T S9el SR fosharR gansti &1 oW # A
TEAT AT 37d: HFHT 3 SN bl T § AT ST{hal Bfd sl GHd A &
T GUR HH o faq 941 6§99 U9 fau |

(31) 3w afvia fearfa § faqumEeRdl gru wFaT i Sfa &1 gurRa & fae gy

YU o YA 1 A Fdld §U U] 3eei@ I |
() 9F (31) | qgaM T AEA & e ot a9

A company was marketing ‘Juicers’ which were very popular due to their

quality and after-sale-services provided to the customers. The company was
a leading company in the market and earning huge profits. Because of huge
profits the company ignored the after sales, services. As a result its relations
with the customers got spoiled and the image of the company in the public was
damaged. Top management became concerned when the profits for the current
quarter fell steeply. On analysis it was revealed that ignoring the after sales
services was its reason. Therefore the company took all possible measures to
protect and promote its favourable image. As a result the goodwill of the
company improved in the society.

4
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(a) Name and state the communication tool used by the marketer in the
above case to improve its image.

(b) Also explain role of the tool as identified in Part (a).

foxia aR g0 froifea &l o1 ool hifeTy |

State the functions performed by financial market.

< 9Y qd wEh 7 @ GrEifitnRt | el o il IE $ 9HI d 9 9
forepe M afefl heat | o foham) o8 39 weol | 9 TRl o1 991 39 I
o e fo o o€ T foepe I aTell W9 i Toh 3R Sohle T1iud ST |
TS U 394 ST U9 deg Auifd R ok 3= 9 &3 &1 wE-Fis
TS |

3G T 329 g o H fafaiisa uf ® 50% oy A s an1 a8 o
fon o fo s=n O S 2R, =i, THe SN | HElH i SUR W Gk
S | 39 g% ot i fean fo ST+ gepml & "ieaH ¥ Sel o foaue & o
[t EvIH O I UM [hAT ST | 39 ScAGT-Yo-4eh o &9 § 89 i
e fora, forem Scarea-foRaneti o foarea & faeiRa @il o1 off fofa feram)
Y A o R Y e § HHOIREl i SAEvIEd Hl < el fgaw off TR
fRaT o arelt SmTfaet & faw 7he 3 g6 &l &eER fafys 3amkl & e
A b IR H grad fRA1l AR R SR 75 W M Hd 90 AL,
T T T A T8 W T 150 Ffafed & JAMA 1 =ioon off & T

ST 3TToe § Ufkidl <l 3qYd id U 39H dfvid fafys aisHiell o gor =1
TEAM SIS AT 5% FHEEY |

Two years ago Mayank obtained degree in food technology. For some time he

worked in a company manufacturing Bread and Biscuits. He was not happy
in the company and decided to have his own Bread and Biscuits manufacturing
unit. For this he decided the objectives and the targets and formulated action
plan to achieve the same.

12



One of his objective was to earn 50% profit on the amount invested in the first
year. It was decided that raw materials like flour, sugar, salt etc. will be
purchased on two months credit. He also decided to follow the steps required
for marketing the products through his own outlets. He appointed Harsh as a
Production-Manager who decided the exact manner in which the production
activities are to carried out. Harsh also prepared a statement showing the
requirement of workers in the factory throughout the year. Mayank informed
Harsh about his sales target for different products, areawise for the forth
coming quarter. While working on the production table a penalty of ¥ 150 per
day was announced for not wearing the helmet, gloves and apron by the
workers.

Quoting lines from the above para identify and explain the different types of
plans discussed.

21. Ui AICET Sl Uk TgUd H¥-1 8 $HEkd ¢ | s &6 fodl 9 S8 @R a1l 5
e Ik T I W9 Dl TG, 1 Il Al foh SH HA T b Teafd sga
e off 3Td: IH STEqATd H Wt fohall T TR Sl ¥ SHH! T 9 i AR
| 3TH TH At 7 W ARRI o o, =St Bl $HR T farad ge <
A1 &1, <estt 7 QA S WIST & 9l Sl @l ‘Tdieh’ % U W-TE S
T 1T Xd gC Ton fafad Y1 &t | S6 g3 Ja-¥eh ol 39 fawd § 9a1 =en
@ I FEAT GRER o AT IR0 a4 AH-TH ok & hi GHEE Hl AR
feam

(37) I TT=8% § 37Yd L gL SA=1er @ SRS T § gef-9aq
gl ol SATT HifSTT |

() ARG T i fh=l 1 fovrast &1 Sear@ Hieg |

(®) SR aRfearfd # gae &1 g9fa ffe S 9 6=l & qedi &1 9e9m
HifSTT |
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Prateek is working in a multi-national company in Noida. He was running
temperature for the last many days. When his blood was tested, he was found
positive for malaria. He was admitted in the hospital and a blood transfusion
was advised by the doctors as his condition was very serious. One of his
colleagues sent a text message to his superior ‘Mr. B. Chatterjee’.
Mr. B. Chatterjee, immediately sent a text message to the employees of the
organisation requesting them to donate blood for Prateek. When the General
Manager came to know about it he ordered for fumigation in the company
premises and for cleaning the surroundings.

(@) From the above para quote lines that indicate formal and informal
communication.

(b) State any two features of informal communication.

(c) Identify any two values that are being communicated to the society in
the above case.

=01 gfhan o =Rl &1 SeoiE hifsIy |

State the steps in the controlling process.

‘T’ i Tl =R faRiedisti sl 9uiF shifsd |

Describe any four characteristics of ‘co-ordination’.

&Y fafee T SauerEa vl & g1 3§t 19 ISt T 60 @@ &1 fUsa

a9 ! 9fd 379 ™ T 0.50 off | fafasfietor & fau &l &1 T 40 @

STfafRea it ! STEvAshal | 9 fT HFAT 7 10% FR0T9s FifHd Ttk fod

Thd foRan =me] o # fafifsd gt ® el 3 2 8 s @y @ifsia fera

T 40% 1 W H F YT TR

(31) Iooi@ Sifoe fop fafaeientor 9 SToenfEl ol 9fd o139 o™ W &y Agen
BT g8 | STYAT UM sl T &Y §

() Y B ok YSil Bid o Teh AW o &I § HAA GRI RGN ob FIHT o 981
T Tl 1 SR & Ieai@ ot Hifeg |
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Kay Ltd. is a company manufacturing textiles. It has a share capital of
X 60 lakhs. In the previous year its earning per share was I 0.50. For
diversification, the company requires additional capital of ¥ 40 lakhs. The
company raised funds by issuing 10% Debentures for the same. During the
year the company earned profit of ¥ 8 lakhs on capital employed. It paid
tax @ 40%.

(a) State whether the shareholders gained or lost, in respect of earning per
share on diversification. Show your calculations clearly.

(b) Also, state any three factors that favour the issue of debentures by the
company as part of its capital structure.

el 7 TEE THH i oM 9§ SF9R &l Teh didd @S| sidd W) g T
ol T G o | 3Eehl SUA ek o SHR Bl TS | SYHISKI HL&T0 SAfUfad
& F<id 394 TS wE # Te Fifeen oSt i IR 38 e fya e

(31) W fearfd § 39 Hewqul J8e] il Tg=ie ekt forqumerl g staser
EIRIERS

() ITE (31) H T8aH T Uge] < ki sl €AY H U hIfT |

Vasvi purchased a bottle of pickle from the local grocery shop. The information
provided on the bottle was not clear. She fell sick on consuming it. She filed
a case in the District forum under Consumer Protection Act and got the relief.

(a) Identify the important aspect neglected by the marketer in the above
case.

(b) Explain briefly the functions of the aspect identified in (a) above.
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